P 450 3/ -3% 4 46 -9%,60,6775

3D C=9 _ 2550 S 2.9 o F
‘"\'}‘"‘ oy S
VAR ‘—Z r‘?SO’Dxro'{z'F‘ -

-1

qg y.((l#”'(. . 7_(? NyZe) 3(:_ o 0,7?10F
[ 20V

3

)
N
i
<o
it

@ C:% q = CV :(%;ODC_,F)(IZW)»%
@ C=¢& A A= i{,_g . (Z.Z Xfo"srw/)(@ 2o F) 5 0o Ma
T € G, 15 xra” ' N M
-
9. C ?gOnF W?’gx/omm{:
<=3 = Pt - - )
7 (121 -93v)
® £y i T
r Vv ..
y=CV = €AV = g%ﬁé - @ goxio W Mzsoxre e 54" Vi)
:L ¢ - _2,(;3'>C/Ofgf—

S
A
e

VC, +Y%¢, = gfs;lu(z.sod}) v égz\,r(gwg%p)
) = é«g}é ?‘/O—SC_
bt CopeRlee = €, +C, = 2:5uf + égsfdkf—‘ : G Sd‘“’f

_ -3
Vhé - é—-—-—-—-——-—-‘-“"‘“’""‘lE.?eﬁ[O C:. ?’07' \/_((ﬂ’t Cuwfu)
C 93vo 6 £ "—3 = ) s
j:cvs(z,s%,,g)(;op,u): 13700 C e (gta)oﬁfj(?o-?f/)-lfgmo <




@ g =Lev: J(ZZO‘Owa’”‘FXe Sov)z—;- 4,6 xro Cf 3
Z

Z
Gp Escvm
[
c = 2& _ z(1zooy) ¢ xo o F
= (Bwoiv)® —
(9 £-4cvm Crez ©2
d 4
F=-_1 C g R '5"’-* _ .E.Ldz (l Exro h)(‘#toﬂo c)
* (C) LT 2ga z(agmo A
= Z.gxlo J

(N
W
AN
0
o
»
N
1]
<|owo

d
| e, Z -t - ~“f 2
£-4 C? s fCr = EelAr “(3-0wc>6 u,«“"*)(&?h/o T~ 1/54’“0 i«)
cr T N
= |.5 xro C
AR ——

B c-g c-£4

:
- ugn (st oo |y e
)H‘Q M

(h} “H.e_ o € LLZ)(/OF“C




75 (c) C;_%
Vv

. gd
-

d) Wert = AF

c-£h
d

(2w (5 xe i) = IRV

T

(¢.85x ’O*Q'(—LIUP‘M#') (Zo wo"(n«’b)




